
1  

 

 
 

ά[hht 9[9a9b¢έ MANUAL 

UB640-VL1.1 / UB640-VL1.3  /  UB640-VL2.3 

 

 
 

  

Revision 1.4, 2024-01-24 



2  

ASSEMBLY OF THE VERTICAL LOOP ELEMENTS 

 

 

This manual refers exclusively to the mounting procedure for the elements of the vertical loops used in the 

UB640-VL1.1, UB640-VL1.3 and UB640-VL2.3 models. 

All other instructions for mounting the antenna are included in the "Standard" manual. 

The VL2.3 model has a dual driver. Please download the "COAX SWITCH" manual for instructions on 

connecting the electronic switch and coaxial cables. 

 

 

 

 

 

 

 

 

 

Vertical loop diagram 

 

 

The manual contains the instructions for the complete assembly of a folded loop element. 

The procedures are the same for all loops, regardless of whether they are driven or passive elements. 

It will be sufficient if you perform the mounting on the boom in the position indicated by the "Antenna 

Diagram" of your model. 

 

  

PVC guide tube 

Fiberglass rod 

ABS sleeve bottom 

ABS sleeve top 



3  

1) SUPPORT ASSEMBLY OF THE LOWER LOOP ELEMENTS 

 

The lower element of the loop is supported by a 60 x 60 mm square aluminum profile located directly under 

the motor unit. 

It is attached to the boom with two aluminum plates "A" (Fig. 1). The plates are fastened to the side of the 

boom with 6 M6 bolts. 

Put the square section "B" together to form a T, tighten the tube so that it will remain in place. Align the square 

profile "B" at an angle of 90° to the boom and check that the right angle is maintained (Fig. 2). Then tighten all 

the screws. 

The plates will act like a clamp and provide a stable mechanical connection of the entire lower support. 

 

The lower elements of the loop are mounted on a plate similar to the motor supports (Fig. 3). Mount the 

aluminum support on the lower end of the square profile "B" (Fig. 2), check the angle by 90° before tightening 

the screws. 

Install the fiberglass tube "C" following the same procedure as for the motor units (see "Standard" manual). 

The support "C" keeps the lower elements perfectly parallel to the upper elements attached to the motor unit. 

  

 
 

Fig.1 
 
 
 

Fig.3 Fig.2 
 

A 

C 



4  

2) MOUNTING OF MOTOR UNITS AND GUY SUPPORTS 

 

Install the motor unit on the boom according to the "Standard" operating instructions. 

Fasten the aluminum U-bracket (Fig.4) above the ABS collars with the two screws M6 x 120 mm included in the 

screw set. 

Mount the vertical bar on the U-support (Fig. 5) and fasten it with the two M6 screws (Fig. 5).  Figure A shows 

the sectional view of the correct alignment of the parts including the guy wire. 

 

 

 

 

 

 

 

 Fig. 4 

 

 

 

 

 

 

 Fig. 5 

 

TIGHTENING TORQUES OF THE SCREWS 

Thread Description Torque 

M6 Plates A (Fig.1) 17 Nm 

M6 Pates elements support, lower (Fig.2) 10 Nm 

M6 ABS-collar lower tube (Fig.3) 8 Nm 

M6 "U" support -screws (Fig.4) 8 Nm 

M6 Screws for guy wire support (Fig.5) 8 Nm 

  

Fig. A 

Guy 

wire 



5  

motor 

unit 

A 

3) PREPARATION AND GUIDE TUBES 

All motor units of the vertical grinding elements require the installation of internal guide tubes όάAέύ in the 

upper elements connected to the motor unit. 

Elements with internal guide tubes 

Model UB640-VL1.1 UB640-VL1.3 UB640-VL2.3 

Position of 
elements with  

internal guide tube     
 Driver Driver Reflector Director/Driver 2 

 

 

 

 

 

 

 

 

The guide tubes are an important part of the construction, so that the tape can also move inside the curves and 

the side elements without bending. 

The guide element consists of two sections of PVC pipe 2 x 1500 mm with a total length of 3 meters. 

"You can't glue on dirt": degrease the ends of the pipe with thinner, spirit or similar and then avoid touching 

the area of gluing. Join the two parts with commercially available electrician's insulating tape (not included in 

delivery, Fig. 1-3). The adhesive layer of the insulating tape should 'smear' as little as possible and also be as 

heat-resistant as possible so that it does not dissolve later in the sun. 

 

Insert the guide tube into the previously assembled element (Fig. 3). 

      

Fig.  1       Fig. 2                              Fig. 3 

Internal PVC guide tube                   Joint                                                    

                                                   tape               tape 



6  

4) MOUNTING THE ELEMENTS TO THE MOTOR UNIT 

 

Before inserting the GRP elements into the engine unit, fix the 

PVC guide tube. During this process, it is necessary that the 

element remains aligned with the motor! If your assembly facility 

does not allow this, it is essential that a second person supports 

the element while inserting the guide tube (Fig.). 

 

 

 

 

When mounting the element to the motor unit, push the previously glued PVC pipes into the GRP telescope, 

then insert the GRP telescope into the motor unit as far as it will go. This will clamp the black funnel. 

  



7  

Then attach the rubber sleeve and tighten the clamps. 

 

 

Important note 

Mount the guide tube very carefully. In case of possible detachment of a tube, the copper 

tape will inevitably bend and affect the motor functions of the device. 

 

 

5) ASSEMBLY OF THE LOWER ELEMENTS 

Mount the lower elements on the lower support as for a motor unit. 

Fig. 1 shows the scheme of position and placement of elements in a fiberglass tube mounted on the support. 

Insert the element 10 cm and lock it with the outer bands of the rubber sleeves. 

 

 

  

support C 

Fig. 1 

element 
Fiberglass tube 



8  

6) INSTALLATION OF THE SUPPORTING ROPES 
 

 

The truss ropes are attached to the elements by means of two special ABS sleeves (Fig. 2) located in the central 

joint of the telescopic element, at this joint the heat shrink tubing is not applied. Place two O-rings as shown in 

Fig. 3 - 4. Close the two ABS shells using M4 screws (Fig. 5), the ABS mount remains rotatable on the element, 

this is normal. The inner notch between the two O-rings prevents it from sliding inwards. 

 

 

 

 

 

 

Fig. 2 Fig. 3 Fig. 4 Fig. 5 

 
The two ABS sleeves A and B are connected by a vertical fiberglass rod (Fig. 6) that mechanically connects the upper 

element to the lower element, which is necessary to maintain the uniform geometry of the arch while distributing 

the side support to the lower element. 

The fiberglass rod is fastened in each case with one of the 4 screws (page 9 - Fig. 7) in the receptacle of the sleeves. 

 

NOTE: As mentioned in the "Standard" manual, there may be small differences in length between the elements and 

then between the joints, therefore the lower joint B may not be perfectly aligned with the upper one. Although this 

is not of great importance, you can correct the alignment of the lower coupling by adjusting the insertion of the 

lower element into the "C" support (page 7 - Fig. 1). The distance of 10 cm inside the tube in which the elements are 

held is sufficient to compensate for any misalignment of the B lower support. 

 

Fig. 6 

 

 

A 

B 

A 

B 



9  

 

7) INSTALLATION OF THE LOOP CURVES 

 

 

 

 

 

 

 

   Note: The surfaces must be cleaned before application. 

 
 

 

7) SEILHALTERUNGEN 

 

 

 

 

8) MOUNTING THE GUY WIRES 

 

 

 

 

 

 

 

 

 

A suitable rope (Mastrant) is supplied for mounting the loop elements. Pull the rope through the duplex clamp, 

then through the ABS sleeve, and back through the duplex clamp. Align both sides and tighten the screws 

according to the torque table. 

Before heating the sleeves, check the following: 

- the orientation of the loop in order to avoid a "candy" 

  shape (aesthetics) 

- after the application it is necessary to wait until the 

  sleeve has cooled down. 

- Twisting or movement of the joint, which is still warm 

  and not quite cold, can affect the mechanical seal and  

  the water tightness of the joint. 

 

Venting, 

Drainage 

 
The outer bends are fixed with high mechanical strength with the inner self-adhesive 

heat shrink tubing. Insert the sheath into the element and then into the 180° bend 

made of PVC 8 - 10 cm. Slide the sleeve over the joints and heat it with the heat gun. 

The procedure is the same as for the telescopic elements. 

Fig. 9 

Fig. 8 
Fig. 7 



10  

Then simply attach the rope (one section) to the vertical aluminum profile located on the motor unit (Fig. 8). Cut 

the excess rope from one of the two C-supports only when the correct length is obtained. 

The elements must not point upwards, the correct tension of the sides results from the alignment of the C 

supports (Fig. 9), which must not be higher than the drive tube of the motor. A possible downward trend is 

recommended, ideal to align the loops with the same inclination of the normal elements (no loops) of your 

antenna (Fig. 10). Three holes in the aluminum rod allow you to make a small final correction of the rope tension 

without removing the rope from the joint. 

                    
  

 
 

Natural inclination  telescopic element 

Ideal inclination loop element 



11  

VL-SERIES ANTENNA DIAGRAM 
 
 

 
 

 

Director 

If necessary and possible, the mast/boom plate can be 

mounted so that it does not touch the motor unit. 

Reflector 



12  

VL-SERIES ANTENNA DIAGRAM 

 

 
 

ELEMENTS LENGTH / GUIDE PVC TUBES 
 
 
 

Model No loop External loop / PVC tube Central loop / PVC tube 

UB640-VL1.1 / / 5.4 m / 3 m 

UB640-VL1.3 5.4 m / 5.4 m 

UB640-VL2.3 5.4 m 5.4 m / 3 m / 

 

 

 

The VL1.1 dipole is equipped with a special square aluminum mast, which simplifies the mounting of the 

dipole on your mast and provides better support for all parts than an installation on a round mast. 

The installation procedures of the elements are identical to those specified for the VL series, so refer to 

these manual pages: 2-5-6-7-8-9 and "Standard Manual" (page 5) for the installation of the elements. 

 

UB-640 ï VL1.3 UB-640 ï VL2.3 

UB-640 ï VL1.1 

Reflector Driver 

6-40 
Director 

180° Normal 

  
  

  
  

Reflector 

 

Driver 

 

 

Director 

 

180° Normal 

D
ire

c
to

r  1
0-3

0 

 

R
e

fle
c
to

r  1
0-4

0 

 

R
e

fle
c
to

r  1
0-2

0
 / D

rive
r 3

0 

 

D
riv

e
r  6-2

0 

D
ire

c
to

r  1
0-2

0
 / D

riv
e

r  3
0-4

0 

  



13  

 

 

 

 

 

 

 

 

 

 

 

The picture shows a UB640-VL1.1 mounted on the mast by the customer. 

 

 

 
 

 

UP 
Bolt for truss 

U-bolts mast 


